1

[3] a<1=D
= =]
(b) w+1=0
= a=-|
[e) a=<l=3%
= TEh
[l aphmd
= Jw-d
[e] »-4=-7
= ye=}
[f] v=4=4
= wv=i
(e sod=s
= wu
(h) yod==d
= wv==
[4] V=42
=2 I=mld
e
hy ==#&
”1
> bh=s|l
Pai
() £+
= p=2A
[cd) 4y =25
bk
=1 =
L |
[e] By = 34
== 'r-!
2

i=lal=0al

véal=1=0-1

p=lelmfel]

prh=bel=f

y-dade-Tsd

p=daldzdsd

wed=dad=-4

pidede =d=d

[Adding 1 bhoth sldes]
[Subtracting 1 both gides)
[Adding 1 bath sides]
[Subtracting 6 boih sidex)

[Adding 4 both sides]

[Adding 4 both s/dex]

| Sulstracting 4 Bbith sidek)

[Subtrasting 4 bith wides)

[ IViviclirng both sides by 3]

[Wualii gy g bt hy wlkes by 3]

[Multiptying both sides by 7)

[ Mivicling bath sides by 4]

| Dividing both sides by B]
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T) |add 2 to & =lavd

| 2) | subtroct T from b = | b-1

) | double ¢ |=|2¢ er|cxd
| %) |add T to d =|d+l

' 5) |subtract 3 from a =|e-3

 6) | half of =|¥%f or|"/s
7) | multiply ¢ by % = |y | or | gx4
&) | multiply b by 3 =|3h or| hx3
9) |divide i by 3 =/  |or|it3
10) |add 4 to ] = |jo4
71) | double k and add 1 = |2447

12) | double | and subtract 2 =21 -2

¥am+3 |or| /3 + 3_'

73) | halve m and add 3
I'ﬁ ﬂ'_r | or .i"r_;_ll 'T

14) | halve n and subtract T

15) |multiply 0 by 3 and add 4  |=|Fo+¥ |

I16) | multiply p by 5 and subtract 2 =|5p-2 |

17) |add 7 to r =|r+7 |

I18) |add s te 7 =|g+7 or|7+s

| 19) | subtract 10 from ¢ =|¢-10

20)| subtract u from 10 =|10-u | | |
21) [ multiply 2 by v =[2v |
22) | multiply w by 2 |=|2w | |
23) | divide x by 5 |=|'/s x |or|"/s |
24)|divide 5 by y =5/, or|5+y |
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There are 12 pm:hut; of crisps in a big pack.

How many salamaners do | have now?

= 1in

| buy n big packs of crisps.
How many packets of crisps have | bought?

2)  There are t pencils in a pack. | buy 4 packs. = 4l
How many pencils?

E} | have b pens. A friend gives me n more pens, = n+b
How many pens do | have now?

4) Abag of apples contains 6 apples. | buy w bags of apples. = Bw
How many apples have | bought?

'5} | have a box of d chocolates. | eat 7 of them. = d-7
How many chocolates are left?

'E',i The temperature is 62°F, It gets warmer by h degrees. = B62+h°"F
What [s the temperature now? (or h+62)

7} There are 20 balloons at a party. y balloons are burst. = 20y
How many balloons are left?

'E'.i There are z lish in an aguarium, % uf the fish are angelfish. = NI
How many fish are angelfish?

9) There are 20 red and blue marbles in a bag. s marbles are = 205
red. How many are blue?

10) Ina class of ¢ children, %/s are boys. = 1y
What fraction are girls? —

11) There are s carsina carpark = ds
How many wheels wil| they have in Lotal?

I11]| | have u soft toy salamanders. | get v more. = U
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1. Sunce, s tangle lx posuble whose sum of the lengrhs of any two sides would be greater than
the bennpth of Churd ke,

] = cm, X e, 5o fu) Xom 6o Tom
2adwb Mes Jelin7 Yeu
2ab»]} Yan heTnl Yeu
J+5»2 You 1+7sh Yes
This traangthe |s not possible, Thin triangle w possible.

i} fom 3 o, dam
baleld Yau
fhelsl Yen
2el®h My
This treanghe |s oot poss|ble,

Z ol DI O and OF.
[(] ©OPs0OQs=P)?

Ye=. POQ form a trlangle

[ii])] EOQ«OR>QR?
Ye=, RO form a triangle.

(wl) LOR-O0F=HP? ¢
Yes, ROP form a trigngle

1 Sinwe, the wum of lenjiths of gny two sides in 2 triangle shoull] be greater than the bengrh of
third mide.

Therelore, In AADM, AD-BM=»AM ... i
In AAME, AC=MCxAM (1
Adidiong ey, [1) mad (U],
AR = M+ AC = MC » AN » AM
= AR = AC = (HM = MC) = 2AM
=3 AR = AL » BC » TAM
Hence, I Is true

4 Since, the sam ol lenjpha of sny two sickes in 2 trlangle should be grester thaa (e lngth ol
third aside.

Therefore., In &ABC, ARB=BC=AC 2 L (¥]
n AADL,  AD+DC>AC R | ()
In ADCH, DCeCH>DB )
In AADE,  AD+AB> D3 V]
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